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(b) Write down an initial condition for S(t).
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3. i i
(a) Find the Interval of convergence of the following ey
ries:
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(b) Find the Maclaurin series of 7(z) = ze?*". What is the radius of convergence?
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o ¢ (II) We are looking for the Maclaurin series of a function f(z). We know that f
: What is the coefficient of 22 in the Maclaurin series of f(z)?
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(III) A power series is convergent at —1 and divergent at 1. Which one of the following points coﬁld
be in the interval of the convergence of this power series:
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5. We want to use a Taylor polynomial of f(z) =
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(a) What would be a good choice for the center of the Taylor polynomial? Why?
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1 (b) Use the Taylor polynomial of degree 2 centered at the point that you found in the previous part

to write an estimate for /25. / \ 7] .-.l
y =v g3, L@H=_deh)-—
foo=Jx o 2% 7

s
b L x 72 = LX) =5eD 1 (17')(%—1?)\&272 )

u =34
§F )= -—- x("l IR = TO() 5—‘: o U‘—'L?) C>(~7—¥?”
?7):2(

-%
1 ,
o= l— A (/—3*( 5/)x DIEINT,(25)-2 %

1 o

(¢) Find an upper bound for the error of your estimate.
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6. (a) Solve the following initial value problem:
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(b) Determine whether the following series is convergent or divergent. State the test you use, and
show your work:
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(¢) We wish to approximate the sum of the following series with error less than 0.0001.
nb
n=1 A

Determine a partial sum of this series which gives such an approximation. Justify your answer.
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8. (a) Let R be the region enclosed by the z-axis, z = 2 and Y=

Find the volume obtained by
rotating R about the line y = —4.
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